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Question 1

Consider two partitions P and
Q of the closed interval [0,1] as
follows :-

fp b L3y
Q'{ '8'4'8'2"4 ]
Then find the correct option.
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Question 2

If f(x) =x* Vx€E][ab]andif
P:laa+h o+ 2k a4

nh = b} be a partition of [a, b]
then the supremum and infimum
of f(x) in the r-th subinterval are
respectively as

M f(x)=x*> Vx€lab] A
R P :{a,a+h a+2h..,
a + nh = b}, [a, b] WIS
B0 OGN 28 OIR f(x)
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Question 3

If f:10,1] — R defined as
fx)=x vxeloilnQ
=0 elsewhere
Then choose the correct option.
f : [0,1] = R FEFFesTE
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f)=x vxeloiln@
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Question 4
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If f[x) is defined in [0,1] as
—{_qyr-1 L

@ =0, Le
= =

r

=) . =0

Then f(x) is integrable in [0,1]
since
[0,1]o@tE fx)aF wigel 39
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Question 5

let f(x) be defined on the
interval [0,1] as follows :-

f(x) = 1 when x is rational

= —1 when x is irrational

Here in [0,1]
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Question 6

The improper integral fol Jiz dxis

TR R [, dx & W

Question 7

7 sinnfdé
i, = fn o) then

 sinn@dé.
ﬂﬁln = J-n o =T

Question 8

The improper integral

j: ™1 —x)*dx is
convergent if
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Question 9

11 .
oxzdx is

1
D;dxm

Question 10

1
The value of _j'om e ¥xzdx is
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Question 11
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The series is X2, ——
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Question 12

The series Yieo(1 — x)x¥, for

D<x<1is

E?cu:u(l = x)xx

T [0, 1T

Question 13

The radius of convergence of

1 x?
the series - —x + = —x?
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Question 14

The Fourier constants a;, and
by, for the function f(x) =

x (—-m<x<m) are
respectively

fx)=x (-m=x<mn)9E
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Question 15

dx
1=-cosx

T g% STuieEn
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The integral J-oﬂ

Question 16

Consider the partition P of the
closed interval [0,1] as

follows :-

P: {0,£,3,3. 1} then what is
a'a’s

the norm of the partion P?



Question 17

Let the function f : [a, b] — R be
defined as follows :-
f(x) = 0 when x is rational
=1 when x is
irrational.
Then what is the value of
upper sum 5, for a partition P on

[a,b]?
f:[a b] - R [F@@eE w&©
f(x) = 0 T4 x 30
= 1 T4 x I[N
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Question 18

Let the function f : [a,b] — R be
defined as f(x) =k V¥ x € [a,b]
where k is a real no. Then what

are the values of fﬂb flx)dx and
[P F)dx ?

H41 5 f : [a,b] — R SAGHG
A7 AME f(x) =k VxE€
[a,b] (T k 9516 =3
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Question 19

Let f : [0, ] — R be difined as
3
fx) = xisinf when0 < x<w=0 whenx =0

Determine whether f(x) and f'(x) are bounded in [0, 7].

HHf: [0, 7] - R 999 %6 ICHE A0S
f{x)=x2‘sinf YT 0<x<m=0T4T x=0
O f(x) 93 f(x), [0, 7] W@ WaEw FO GeE F4)

Question 20

If £ [0,2] = Ris integrable on [0, 2] andis
such that it is continuous at x = 1 and
f(1)=2and f(x) = 0 V¥ x € [0,2] then

what will be the value of f;f(x)dx ?



M £ [0,2] — R aFf6 [0,2] T&&E
AT SCTHF T A9 f(x), x =1
fFe wge: 93 f(1) = 2 2, 9F
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Question 21

fa< f:vg + x2 dx < bthen
what are the values of @ and b ?

Ilﬁac:f;\)9+x2dx<b3a_ﬂ
ORE a9y bAag I Fw 7

Question 22

fflx)= xwhen0 <x <2
=x? when2<x<3

Then evaluate J'na f(x)dx if f(x) is integrable on [0, 3].

M f(x) = xTIFO< x < 2
=x? Y2 < x < 3
= ORE [ f(x)dx I AH B FF AT I £(),
[0,3] IWE TAFAAEET |

Question 23

Change the order of integration
of fxl:o dx fyzix{xz +y2)dy.

I::c dx J';:x(xz + yH)dy
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Question 24

What is the value of the improper
_dx o
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integral |_ - s
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Question 25

Assuming [Zlog(sinx) dx = —I—zrlogg 2, what is the value of
fﬂnlcge{l + cos8)d8 ?

™

JZlog(sinx) dx = —E]oge 24E A f;loge{l + cos8)de A%
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Question 26



Given that the improper integral
_flm ;T:; is convergent. Then what

is therange of a?

g o [ 2L o
1 42a
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Question 27

The improper integral J’;f{pc}dx
where f(x) = 1

1-cosx
convergent, can be proved by u

test, si li H =
est, since lim x f(x)

is not

What is the value of u ?

Jy FO0)dx (T f(x) = ——
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Question 28

What is the value of fﬂi sin*f cos* 8 dg ?

JZsin* B cos* 8 d8 AF @M FB?

Question 29
What is the sum of the convergent series ¥ (—1)"! o g
nin+1)
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Question 30

What will be the value of Fourier constant b, (k € N) for the
function
fx)=—1 —m=x<0
=1 D<x=m?

fx)=—1 —w<x<0
=1 0=sx<sm
92 IUTHEE (B HEAE &IT b, (k € N) a7 AW
F6 7d ?




